

728 Sixth St. =Rapid City, SD 57701 = Ph: 605.348.2268 = Fx: 605.348.6506 = Email: admin@wyssassociates.com = www.wyssassociates.com

December 3, 2014

Daphne Cook 522 7th St Suite 210 Rapid City, SD 57701

Daphne:

This letter is a follow up to my previous note concerning updated costs for the Powwow Gardens and Market. My previous letter addressed the 35% escalation of the total project.

Phase I is a total of \$1,310,660 and factoring the 35% escalation, that total would be updated to \$1,770,000. You have asked what accommodation could be made to reduce that projected cost to the original estimate of 6 years ago. The following are our recommendations:

Revised Phase I Total:

\$1,770,000

Defer Landscaping to Phase II \$132,950 plus %35% =

(\$149,435)

Defer Perimeter Fence to Phase II Use wristbands in lieu of permanent fence

\$95,400 plus 35% =

(\$128,790)

Reduce Phase I Seating Capacity by 30% 453,750 plus 35% = \$477,812 x 30% =

(\$143,340)

Less 10% Contingency for above

Items deferred to later phase:

(\$40,000)

Total Updated Opinion of Probable Costs:

\$1,308,435

The revised total of \$1,308,435 is comparable to your original targeted amount and still allows you to program the facility as initially intended. Please let me know if you have questions.

Sincerely,

Patrick H. Wyss, FASLA

Fellow, American Society of Landscape Architects

Landscape Architecture

Golf Course Architecture

Parks & Recreation Design

Rapid City, South Dakota

Item Description	Qty.	Unit	Unit Price	Extended Price
Contractor Mobilization	1	Lump Sum	\$17,500.00	\$17,500.00
Bonding & Insurance	1	Lump Sum	\$10,000.00	\$10,000.00
Division I Work (Administrative Procedures)	1	Lump Sum	\$12,000.00	\$12,000.00
Quality Testing & Construction Staking	1	Lump Sum	\$17,000.00	\$17,000.00
Asphalt Cutting/Removal	6,900	Sq. Yd.	\$3.50	\$24,150.00
Retaining Wall/Fountation Demo & Removal	330	LF	\$22.50	\$7,425.00
Gravel Base Excavation & Removal (salvage for re-use)	7,000	Sq. Ft.	\$1.20	\$8,400.00
Curb & Gutter Demo/Removal	1,873	LF	\$5.00	\$9,365.00
Erosion Control	1	Lump Sum	\$8,500.00	\$8,500.00
Topsoil Removal, Stockpiling, and Placement	1,450	Cu. Yd.	\$2.25	\$3,262.50
Earthwork / Grading	8,000	Cu. Yd.	\$4.00	\$32,000.00
Water Service	1	Lump Sum	\$6,500.00	\$6,500.00
Sewer Service	1	Lump Sum	\$10,000.00	\$10,000.00
Storm Sewer	1	Lump Sum	\$7,500.00	\$7,500.00
Primary Power Service trench	600	LF	\$25.00	\$15,000.00
Storage Building (10'X12') Secure on a 4" concrete pad	1	Lump Sum	\$6,500.00	\$6,500.00
Power & Communications (wire, controls, conduit, panels, power to				
stage, etc)	1	Lump Sum	\$33,000.00	\$33,000.00
Power to Vendor Pads	16	Each	\$500.00	\$8,000.00
Gas Service to Restroom and (4) Vendor Pads	1	Lump Sum	\$4,500.00	\$4,500.00
Conduit & junction boxes for sound equipment	1	Lump Sum	\$3,500.00	\$3,500.00
Site Lighting	1	Lump Sum	\$15,000.00	\$15,000.00
Amphitheatre Concrete Flatwork	5,500	Sq. Ft	\$70.00	\$385,000.00
Amphitheatre Log Seating and Support	1,250	LF	\$55.00	\$68,750.00
Amphitheatre Railing	160	LF	\$42.00	\$6,720.00
ADA Seating Area Guardrail	33	LF	\$75.00	\$2,475.00
ADA Compliant Ramp to Amphitheatre	310	Sq. Ft	\$60.00	\$18,600.00
(Incl. conc base)	1,134	Sq. Ft	\$15.50	\$17,577.00
6" Colored Concrete (5' perimeter walk around performance area)	520	Sq. Ft	\$12.50	\$6,500.00
4" Colored Concrete (Vendor Pads, walks & plaza)	9,900	Sq.Ft.	\$7.50	\$74,250.00
4" Colored Concrete Pad (11'x11') for vendors	3,025	Sq.Ft.	\$8.00	\$24,200.00
Concrete Fillet (25' Radius)	60	Sq. Yd.	\$91.00	\$5,460.00
5" Concrete Surfacing (Emergency & Delivery Access)	3,570	Sq. Ft.	\$6.00	\$21,420.00

Rapid City, South Dakota

Item Description	Qty.	Unit	Unit Price	Extended Price
Curb & Gutter	140	LF	\$15.00	\$2,100.00
Curb approach pavement and gutter pan	41	Sq. Yd.	\$70.00	\$2,870.00
Concrete Wall w/ veneer along Denver St & entrance (30" ht)	140	LF	\$35.00	\$4,900.00
Concrete Stairs at Pedestrian Entrance on Denver St	61	Sq. Ft.	\$75.00	\$4,575.00
6' Perimeter 'No Climb' fence	1,498	LF	\$50.00	\$74,900.00
Log Entrance with Steel Gates	1	Lump Sum	\$20,500.00	\$20,500.00
Tree Grate & Frame	5	Each	\$750.00	\$3,750.00
Signage (Directional & Handicap)	4	Each	\$250.00	\$1,000.00
Trees (Coniferous 8-10' tall)	80	Each	\$450.00	\$36,000.00
Trees (Deciduous)	19	Each	\$400.00	\$7,600.00
Groundcover		Each	\$25.00	\$5,900.00
Shrubs / Perennials		Each	\$45.00	\$3,240.00
Mulch, cedar	60	Cu. Yd.	\$15.50	\$930.00
Mulch, mineral	60	Cu. Yd.	\$55.00	\$3,300.00
Rock lined drainage swale	18	Cu. Yd.	\$25.00	\$450.00
Imported Landscape Boulders and Placement	226	Each	\$100.00	\$22,600.00
Edging	400	LF	\$10.00	\$4,000.00
Compost Ammended Soils	31,400	Sq. Ft.	\$1.50	\$47,100.00
Hydroseeding	10,740	Sq. Yd.	\$1.00	\$10,740.00
Irrigation	1	Lump Sum	\$45,000.00	\$45,000.00
Contingency (10%)	0.10		·	\$119,150.95
Opinion of Cost Phase I (Base Bid)				\$1,310,660.45
Alternate Bid Items				. ,, ,
Restroom Facility	1,080	Sq. Ft	\$230.00	\$248,400.00
Raised Concrete Planter with Stone Veneer & related plantings	4	Each	\$4,200.00	\$16,800.00
Benches		Each	\$800.00	\$4,800.00
Waste Receptacles	9	Each	\$650.00	\$5,850.00
Turfgrass Sod (in lieu of 19,754 sf of seeded lawn)	2,200	Sq. Yd.	\$12.00	\$26,400.00
Decorative Fence and Stone Panels along South Property Line (in lieu of	1	Lump Sum	\$46,000.00	\$46,000.00
240 LF of 'No-Climb' Perimeter Fence				
Contingency (10%)	0.10			\$34,825.00
Opinion of Cost Phase I (Alternate Bid Items)				\$383,075.00
Design & Planning	1	Lump Sum	\$162,000.00	\$162,000.00

He' Sapa Black Hills Center - Phase One Rapid City, South Dakota

Opinion of Probable Cost Through 11-6-19 Submittal

Item Description	Qty.	Unit	Unit Price	Extended Price
Total Project Cost (Base Bid, Alternate Bid Items & Design Fee)				\$1,855,735.45

769 12/673 Merror Merror

AGREEMENT BETWEEN THE CITY OF RAPID CITY AND THE ALLIANCE OF TRIBAL TOURISM ADVOCATES FOR THE COMPLETION OF THE POWWOW GROUNDS AND NATIVE ARTS MARKET FUNDED IN PART THROUGH THE RAPID CITY VISION FUND.

This Agreement is made and entered into this Loday of December, 2013, by and between the City of Rapid City, a municipal corporation of the State of South Dakota, located at 300 Sixth Street, Rapid City, South Dakota 57701, herein after referred to as the "City" and the Alliance of Tribal Tourism Advocates, a non-profit corporation chartered under the Rosebud Sioux Tribe, whose primary office is located at 919 Main Street, Suite 207, Rapid City, South Dakota 57701, herein after referred to as "ATTA."

Recitals

WHEREAS, the mission of ATTA is to enhance and promote tourism as a means of economic development and growth, while maintaining respect for Tribal traditions and lands; and

WHEREAS, ATTA requested funding from the Rapid City Economic Development and Civic Improvements Fund (the "Vision Fund") to help construct a performance area and native market known as the He Sapa Cultural Performance Center (the "Project") on City owned land north of the Journey Museum; and

WHEREAS, the City agreed to contribute \$810,000 in Vision Funds from the 2005 round of funding to construct the first phase of the Project which includes funding for site reclamation and demolition, installation of underground utilities, perimeter control, site grading, plantings and construction of the north amphitheatre and stage; and

WHEREAS, the City has previously entered into a lease with ATTA for the project site; and

WHEREAS, approximately \$150,000 in Vision Funds have already been expended on a professional services agreement for design work related to the Project; and

WHEREAS, ATTA has been focusing its efforts on fundraising and forging partnerships with other non-profit organizations to obtain the remaining funds which will be needed to complete the Project; and

WHEREAS, the City adopted an amendment to the ordinance governing the Vision Fund in 2012 which requires any project that was part of the five year plan approved in 2005 be under construction by December 31, 2013, or in the alternative the owners of the project enter into an agreement with the City by the same date which establishes specific completion dates or benchmarks for the Project to ensure the Project is completed in a timely fashion; and

WHEREAS, the purpose of this Agreement is to fulfil the requirements of Section 3.16.020(H) of the Rapid City Municipal Code (RCMC) and establish benchmarks and completion dates for the Project.

NOW THEREFORE, the parties hereby agree as follows:

- 1. The City agrees to provide ATTA with \$810,000 in Vision Funds to construct Phase IA of the Project, less any amounts the City has already expended out of these funds to pay for design services pursuant to a previous agreement between the parties and Wyss Assoc. No further Vision Funds may be expended on design services without the express approval of the City Council.
- 2. ATTA agrees to construct Phase IA of the project as shown on the materials they have submitted to the City. ATTA will provide the City with a construction cost estimate prepared by a qualified design expert for Phase IA of the Project no later than December 12, 2014 and no earlier than November 10, 2014. The cost estimate must have been prepared within two (2) months of the date it was provided. ATTA agrees to construct any Phase of the Project on which Vision Funds, or any other public funds, constitute a portion of the funding for the Project in compliance with state laws on public bidding. ATTA will provide the City Finance Office with documentation proving that state bid laws were complied with. If ATTA fails to comply with state bidding law in awarding a contract for the Project, no Vision Funds or other public funding will be used to construct the Project.
- 3. ATTA will have until December 31, 2014, to obtain the remaining funds necessary to construct the Project plus a contingency of 10% based on the cost estimate identified in Paragraph 2 of this Agreement. These funds may consist of donations which have been received by ATTA for the purpose of constructing the project, through monies committed by other organizations which have partnered with ATTA on the Project, or any combination thereof. Sufficient funds to construct the Project must be in ATTA's actual possession by this date to satisfy this requirement. Future pledges, or commitments for payment, will not be sufficient, unless ATTA is able to demonstrate, to the satisfaction of the City, that the pledged funds are actually available for use and will be received in time to fund construction of the Project. The remaining Vision Funds and the monies collected by ATTA will be placed in an escrow account which will require approval of both an ATTA representative and the City's Finance Officer, or her designee, prior to a release of any funds. The funds in the escrow account may only be used to fund construction of the Project and may not be expended for other purposes.
- 4. ATTA will be responsible for bidding out and managing construction of the Project. ATTA will not bid out or enter into a contract for construction of the Project until all requirements of Paragraph 3 of this Agreement are met. The contractor constructing the Project will be paid out of the escrow account established by Paragraph 3 of this Agreement. ATTA or the contractor will submit an invoice to the City Finance Office with sufficient documentation to show the amounts due and owing for work which has been completed and for which payment is sought. The money in the escrow account can only be used to pay for work which has been completed and accepted and cannot be used to pay for work which has not been completed or accepted. All requests for payment will also be reviewed by the City Public Works Dept. If a

problem with the payment is identified, the City may withhold approval of a payment until any issues are resolved, or may proceed with processing the payment, but withhold any disputed amounts from future payments if the issue is not resolved in a reasonable time period. The City will not unreasonably withhold payment.

- 5. ATTA will have until July 31, 2015, to complete any remaining design work, bid the Project and enter into a contract for construction of Phase IA of the Project. If the amount of the bids received exceeds the amount of funds available in the escrow account, no contract for construction of the project may be entered into until funds in an amount sufficient to complete the project are secured and placed into the escrow account. If additional funds cannot be secured, the parties may jointly approve revising and re-biding the Project to reduce the cost. If the parties are unable, or unwilling, to revise the Project, or if they are unable to secure sufficient funds to complete the project as bid, the project will be abandoned and this Agreement will be terminated pursuant to Paragraph 8.
- 6. Once a contract for construction has been entered into, ATTA will have six (6) months to begin actual construction of the Project. Once construction is started, ATTA will have eighteen (18) months to complete Phase IA of the Project.
- 7. The parties acknowledge that the City currently has the right to unilaterally terminate the lease with ATTA for the site on which the Project is to be constructed. The City agrees not to unilaterally terminate the lease except under the termination provisions contained in Paragraph 8 of this Agreement.
- 8. If ATTA fails to meet any of the deadlines established in this Agreement, or if ATTA suspends construction on the Project for more than four (4) months, the City may upon terminate its obligations under this Agreement as well as terminate the lease the parties have previously entered into. If any suspension or delay is the result of causes beyond ATTA's control such as a natural disaster, lack of material supplies, labor strikes, war or other similar causes, the City may grant a reasonable extension to the deadlines established herein.
- 9. Upon termination of this Agreement, the City shall take ownership of any improvements which have already been constructed on the site and may complete the Project, abandon the Project, or take any other action that the City deems appropriate. Upon termination of the Agreement, the City will not be responsible to pay for, or otherwise reimburse, ATTA any additional monies or for the value of any improvements which have already been constructed.
- 10. ATTA acknowledges that the City's commitment to provide \$810,000 towards the completion of this Project is good and sufficient consideration for the promises it has made herein. ATTA further acknowledges that absent the promises made herein, the City would not have agreed to provide these funds.
- 11. If any provision or term of this Agreement is held to be unconstitutional, invalid, or unenforceable by any court or tribunal having jurisdiction over the parties, the remainder of this Agreement shall remain in full force and such invalidity shall not affect any other provision of

this Agreement if the remaining sections or provisions can be given effect without the invalid section or provision.

- 12. This agreement shall be deemed to be prepared jointly by the parties hereto and neither shall be deemed to be its sole author. In the event of any claim of ambiguity, no provision shall thereby be construed against either party.
- 13. The terms and conditions of the Agreement may be modified only in writing that is duly executed by the parties. Neither party may assign, directly or indirectly, all or part of its rights or obligations under this Agreement without the prior written consent of the other party.
- 14. Failure of a party to insist upon adherence to any term of this Agreement on any occasion shall not be considered a waiver, or deprive that party of the right thereafter to insist upon adherence to that term, or any other term, of this Agreement.
- 15. The validity, interpretation, construction and performance of this Agreement shall be governed by the laws of the State of South Dakota. Any action to interpret, or enforce this Agreement shall be venued in the Seventh Judicial Circuit in Pennington County, South Dakota.
- 16. This document along with the lease agreement the parties previously entered into constitute the entire agreement of the parties. No other promises or consideration form a part of this Agreement. All prior discussions and negotiations are merged into this document or intentionally omitted.

Dated this // day of December, 2013.

CITY OF RAPID CITY

Sam Kooiker, Mayor

ATTEST:

Pauline Sumption, Finance Officer

THE REST OF THIS PAGE HAS INTENTIONALLY BEEN LEFT BLANK

ALLIANCE OF TRIBAL TOURISM ADVOCATES

Robert Cournoyer, Board Chair

Daphne Richards-Cook, Executive Director

to

State of South Dakota)
County of Charles-Mix)
On this the 17 day of, 2013 before me, the undersigned office personally appeared Robert Cournoyer, who acknowledged himself to be the Chairman of the Alliance of Tribal Tourism Advocates Board, and that as such, being duly authorized to do so executed the foregoing instrument for the purposes herein contained.
IN WITNESS WHEREOF, I hereunto set my hand and official seal.
Notary Public,
My Commission Expires: 9/33/19
(SEAL) MELISSA SANCHEZ NOTARY PUBLIC SOUTH DAKOTA SOUTH DAKOTA
State of South Dakota
ss. County of Pennington)
On this the
IN WITNESS WHEREOF, I hereunto set my hand and official seal.

My Commission Expires:

(SEAL) 6/35/3015